Reception maths - Summer 2 Week beginning: 15.06.20

Grouping Lesson 1 (of 5)

Grouping Lesson 2 (of 5)

Grouping Lesson 3 (of 5)

Grouping Lesson 4 (of 5)

Grouping lesson 5 (of 5)

Theme Grouping in 2's Grouping in 2's Grouping in 5's Grouping in 10's Grouping problems
Factual . . Using your number cards to Using your number cards to Using your number cards to
fluency (to Cem ey f'r;)d ’rhee even Cem ey f|gd ﬂ;e e help. Can you count in 2's to help. Can you count in 2's to help. Can you countin 2’s to
(Lesson 1 resources below) (Lesson 2 resources below) (Lesson 3 resources below) (Lesson 4 resources below) (Lesson 5 resources below)
MAKING LINKS: Last week you | MAKING LINKS: Yesterday you | MAKING LINKS: Yesterday you | MAKING LINKS: Yesterday you | MAKING LINKS Yesterday you
shared to make equal groups. | made groups of 2. made groups of 2. made groups of 5. made groups of 10.
THINK: (support below) THINK: (support below) THINK: (support below) THINK: (support below) THINK: (support below)
Can you help me with this Can you help me with this Can you help me with this Can y.ou helo me with this Can you help me with this
problem? Fred has some problem? Fred has been problem? Fred has been problem?2 Fred has been problem? There are 20 coins in
coins. See below grouping in 2s. How many grouping again but this time grouping' again but this time the treasure chest, the reward
groups of 2 coins does Fred he was grouping in 5s. Can we he was grouping in 10s. He is 5 coins per pirate, how
What has happened to the have? How many coins are say a maths sentence to Ly . many pirates get paid?
. said it takes a long fime to
coinse there altogether? matche countin 1s. How can we
. i@ .
They have been grouped into | Can we say the maths SEE: (model below) make it easiers SEE: (model below)
2
groups of 2 but there are lots sentence? Can you help him count the DO: Use what you have leamnt
of groups. DO: Use what you have leamt | groups in 1052 todav-
Problem/ SEE: (model below) today: To coyr}wple’re the maths
aCﬁV“y of How many groups are there? Choose a number from below. SEE: (model below) problems
the day DO: Count that many counting ¥ ;
SEE: (model below) Use what you have learnt objects and put them into U;i counting objects to help
today: groups of 5. DO: Use what you have learnt
DO: Use what you have learnt | Choose a number from below. _todoy' colour in your 10s
today: Coun’( out ’rhg’r number of How many groups of 5 are numbers. Challenge: can you create
Choose a number from below. | counting objgcfs. o there?2 Choose one of the coloured your own problems for a friend
Count out that number of Group them into 2s, circling numbers {0 solve
counting objgc’rs. o the groups on a piece of How many are there Use counting objects fo count )
Group them into 2s, circling paper. altogether? out groups of 10
the groups on a piece of '
paper. How many groups of 2 there | Can you write the maths Can you write the maths
are? How many are there sentence to match?2 sentence to match?
How many groups of 2 are altogether? |
there? i .
__groups of 5is equal fo __
Can you write the maths — groups of 10is equalfo _
sentence to match?
__groups of 2is equal to __
:\i’\e;hggzs Ts(t)ursgvn:reds: groups of, equa Star words: groups of, equal Star words: groups of, equal Star words: groups of, equal Star words: groups of, equal
&pchecks ’ fo, same fo, same fo, same fo, same

See below for resources to support you to THINK-SEE-DO
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https://www.topmarks.co.uk/learning-to-count/coconut-odd-or-even
https://www.topmarks.co.uk/learning-to-count/coconut-odd-or-even
https://vimeo.com/416998261
https://vimeo.com/416998261

LESSON 1 RESOURCES:

THINK: DO:

@0 e
as
two four

Fred has chosen the number 6.

000 oYeYaye)
6 Count that many counting objects. ..‘ ....

3 GOO0EP S

ten

Now it's time to group the
coins info groups of 2.

Challenge: can you group 7 counting objects in groups

2
Fred has put a circle around each group. of 2

Count how many groups there are. Is this possible?
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LESSON 2 RESOURCES:

THINK: DO:
)3 fae]
(S X&)
two four
SEE: Fred has chosen the number 8. 6 8
' Count that many counting objects. HOD Q0
8 QOOOLLO® 006 | | ooee
e0e
:ooo - eignt
eight
DOVOS
Now it's time to group the .."‘
coins into groups of 2. b
Fred has put a circle around each group and counted the number of groups. grOU pS of 2 is equq' ‘|'o

4 groups of 2 is equal fo 8
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LESSON 3 RESOURCES:

THINK: DO:

cryryy) 51110

@ @i @ @@ 'f:, eeoee

Fred has chosen the number 10. | 5 2 O
Count that many counting obiects. IO O PPO® CHOG@®
s A e am e 00000 00000
QOOO Q) s0see secee S00oe
00000 Jiytoen twenty
el i Aj ten
Now it's time to group the coins info groups of 5. groups of 5is equq| to

Fred has put a circle around each group and counted the number of groups.
2 groups of 5 is equal to 10
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LESSON 4 RESOURCES:

5152 53 |54 |55 56 |57 |58 |59
61|62 63|64 |65 66|67 68|69
717273747576 |77 |78 |79
8182838485 86|87 8889 (90
9192 93 |94 |95 96 97 |98 |99
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= S
Use the interactive 100 square or the one below
Just use the 10s column

= .
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81828384 85 86|87 |88 |89 90 10 20
91929394 |95 96 |97 |98 |99 100

8

Fred has made 4 groups

of 10. To make it easier - grOUpS of ]O is equql ‘|'O L

he's counted up in 10’s.

Fred has grouped 40 cubes into groups of 10. There are 4 groups.
4 groups of 10 is equal to 40
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https://www.primarygames.co.uk/pg2/splat/splatsq100.html

LESSON 5 RESOURCES:

THINK:
PO000
OTOTToT

POOLOP

SEE:

There are 20 coins.

P Pirate 1

4+ Pirate 3

QOVOLY) . et

Each pirate is rewarded with 5 coins so Fred has
grouped the coins into groups of 5 by circling each

group.
There are 4 groups so 4 pirates get paid.

1. There are 35 coins in the treasure chest, the reward
is 5 coins per pirate, how many pirates get paid?

2. There are 16 monkeys, only 2 fit in each tree. How
many trees do we need?

3. There are 30 crackers, each parrot needs 10 for his
tea, how many parrots can eat?e

Challenge: Can you create your own problems for a
friend to solve?
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ANSWERS:

Lesson 1

“1 group of 2.”
“2 groups of 2”
“3 groups of 2"
“4 groups of 2"
“5 groups of 2”

Lesson 2

“1 group of 2 is equal to
22 groups of 2 is equal to
“‘13 groups of 2 is equal to
f4 groups of 2 is equal fo
§5 groups of 2 is equal to
10"

Lesson 3

“1 group of 5is equal to
‘E‘)Q”groups of 5is equal to
]g groups of 5is equal to
]j groups of 5is equal to
20"

Lesson 4

“1 group of 10 is equal
to 10"

“2 groups of 10 is equal
to 20"

“3 groups of 10 is equal
to 30"

“4 groups of 10 is equal
to 40"

“5 groups of 10 is equal
to 50"

“6 groups of 10 is equal
to 60"

“7 groups of 10 is equal
to 70"

“8 groups of 10 is equal
to 80"

“9 groups of 10 is equal
to 90"

“10 groups of 10 is
equal to 100"

Lesson 5

“7 pirates”
“8 trees”

“3 parrots”
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